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gl
This question consists of Part-A and Part-B. Each part carries 150 marks. For each
Part-A and B separate Answer Book is provided.

1. mwﬁwmmﬁlwm*mﬂmtlmmnm
03 ﬂaﬁaﬁﬁﬁwhmmmﬁmmmammmm#m
HET300 £ |
Each part of this question paper consists of 03 questions. AN questions are
compulsory. Question Nos. 02 and 03 have an internal choice. For Question No. 02

word limit is 100 words and for Question No. 03 word limit is 300 words.
M-2015-111 P.T.O.
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2. Wl & S g ATed # R W iRy e wae e area-a A e g
farit s wmew & forg T TR W B1E Jiw e e | et 03 we Fee afE
& | W¥9-U5 & ST 61 WEA & 9T HHIEN &, U 6 WeE & i wl & e
srfard w0 9§ v e € fomd o e 99 g oy weel % 9w A o I |

Tt ¥ W Hegerey €1 Sudn # foran o ween &, wefefe 9 |
Answers should be written in the medium which you have opted in your

Application Form. No marks will be awarded, if the answer is written in any other
medium. AN the three questions must be answered. Quasﬁnl:%he answered
exactly in order in which they appear in the question swers to the various
parts of the same question should be written to ulsorily and answers of
other question should not be inserted between - le calculator alone can be
used in the exam, not the Scientific one. | ﬂ

3. mnﬁagﬂﬁﬂﬂ%,ﬁﬁﬁu@m | Wel s 1 SN U@ Sl &1 ufadi

AgTEI
The first question is of shtWtype consisting of 15 compulsory questions.
in

Each one is to be answe or fwo lines.

4, EI i Hef e G YT Y |
Wherev imit has been given, it must be adhered to.

5. afy e o A el woer @ BT Eu O s TR S e e, A uE &
fer=it evem 2ol wuiaRor § 9 atoft wyiaR 7 7 W
In case there is any error of printing or factual nature, then out of the Hindi and
English versions of the question, the English version will be treated as standard.
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Part-A

1, PrafafEs w v o) 9iEmar § o fafla 15%3 =45

Write one or two sentences on the following :

(A) 3m i vd Sgg

sl &QS?‘
e @
A

(C) O - "ivew Fafer

S
A ({/co

Isobars

Double Salts

ai SaiE TIT PT.0)






) 4-of (g TRE)
4G (Fourth Generation)

(0) 9=

Weight

e ¥ @ Rt 10 Weei 3 TO% o 100 vt E 10% 6 =60
Answer any 10 questions in about 100 words from

(A) A Ef o \
‘What is Intellectual Property lhgm T

(B) maﬁdﬂm%
E;pminughmmim@ D).

(C) -7y

(D) -+ (EL-Nino) R & ?

What is EL-Nino ?

(E) TO-HTH Sl dUI B ?

What is bio-mass energy ?

M-2015-111 P.T.O.



(F)  wrerary 9Rewi vd Teilae aifir ¥ e s diftre |
Give Indian response to climatic change and global warming.

(@) ﬁrﬁmﬂaﬁmmqﬁmﬁﬁmmaﬁqﬁmmh

What is the role of Na* ion and K* ion in biological s$

(H) v sr=fes awrad vd 9w wraifire

Discuss total internal reflection and ‘ ical applications,

(M mmmﬁmﬁml
Explain in brie 6 otic and eukaryotic cells.
ﬂ% (Rerftareon va v gra 3 wemed |
@ e layer depletion and its effects.

(K) T S ) ST 176400 & | 5 5% A ¥ & ofg e & 1 2 o
1T B STEE e g
Thepﬂpujaﬁunnfamwn is 176400. There is increase in it at the rate of
3% annually. What will be the population of the town after two years ?

M-2015-II0
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L) e emmifen & 59 anfife v & 3 o & wegfis wre e S T §
HTN T 61 8, qA 0 Fa Sy |

The difference in compound and simple interest of any amount of money
of 3 years at the annual rate of 5% is ¥ 61. Find the principle amount.

Frreferem et 3 & 5= e vl & Ser T 300 TR ST 3x15=45
Answer any three of the following questions in about 300 w
(A) waiavor ERem ¥ ety e # it &)

Explain the role of sustainable development i i t protection.
(B) wrfos od anfis e & @ & IUER B AdE

HIFAT |

Discuss applications of scim& technology in social and economic

development.

W) Ud STeh I faftey |
t allotropic forms of carbon and their uses.

(C) PHEAS

Write

e 13.5 HIeR w4 au1 2.5 fiew der & ) 5w v
Zml (5 Hier X 4.5 flex X 2.1 Aeg @ &, g @
e AR S e S srd Remm e we s
ENTETe B ST A afe Frerfery |

A rectangular plot is of length of 13.5 metre and breadth of 2.5 metre. A
rectangular tank (5 metre x 4.5 metre x 2.1 metre) is dug in it. The soil

taken out from it is spread uniformly in the remaining part of the plot.
Find increase in the height of the surface of plot.

D)

1-2015-11 P.T.O.



(E) 4m:nmﬁﬂfaaﬁﬁm1ﬁﬂﬁmfaﬁsﬁwﬁwﬁmﬁ,
Eﬁsmﬂmrﬂmﬁmmmm‘rmﬁ#ﬂﬂmm
trwﬂaﬁmmﬁm‘tﬁﬁﬁﬁq#wﬂm
4mmd6wnmjnhﬂymcumpbmanywnrkhidayx,whih

Sm:nand?wnmmjuinﬂfmmmplmminwmtin 10 days. 10
women will complete this work in how many days ?

1-2015-111
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uE-4
Part-B

1. Frfafes w e o 9 iRt 4 oo Mg 153 =48
Write one or two sentences on the following :

(&) T srsmTen guwE

Gender inequality index ?“
®) oo ot ama &Q
Unreported illegal income \
(C) HogHm @
Reserve Money

B \5\/

(E)

Import Substitution

(G) forw= u/a/ = uas
Kissan Credit Cards
M-2015-I11 P.T.0.
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@H) fafyEs

Disinvestment

M FA-VEIR
Under-employment

@) e e gEee

Human Development Index Q~E ?
(K) Gefae #er «
Buffer Stock ®\

M-2015-111



2.

1

ﬁﬁﬁqﬁmm‘fﬂ:‘mﬂmm 100 ¥re5] 7 Sty . 10x6 =60
Answer the following questions in aboy; 100 words each :

(A) MWﬁﬁm&ﬁﬂwﬁmr

State the characteristics of under-developed countries,
HEATOR

wﬂqmmg@ﬂqmwmﬁmﬁ
Write brief on GDP & NDp.

(B) anfﬁmﬁmmﬂmwmmﬁ?
i &1 s Y |

What do you understand by ic development ? Discuss the role of
capital formation in the econ ic development of the country,

T YT mmﬁlmwﬁm

7and causes of poverty in India, What measures can
al with this problem ?

(C) Wﬁmmﬁmﬁrﬁaﬁmmﬁrﬁﬁmaﬂﬁ

'ﬂ H“m P q.Tt 0-
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(D) mn&mﬁqﬁi{ﬁwﬂaﬁaﬂﬁgﬁmﬁﬁmaﬁl
Discuss the role of co-operative movements in the growth of Madhya

Pradesh.

FEOR
mm#ﬁmﬁwmmmaﬂmﬁﬁmwﬂm
Feord B |

Discuss the latest steps taken by M.P. Govt. fmmndw$uﬁh¢
state.

(E) qmn&ﬂﬁsrﬁmﬁmmﬁ%amﬁ %‘7
State the importance of rail mm@ omic development of
Madhya Pradesh.
R
s wew A efrmtn 89S e feomft 34 |
Write a brief note ;gyﬁu of Telecom in Madhya Pradesh.

#mmﬁmﬁﬁaﬁrmwwﬂﬁmm
T S T g & A ?

uss steps taken by Govt. of India towards globalisation since
1991, What further measures you would like to suggest in this regard 7

IeEl/OR
Wﬁmﬁwﬁﬁmﬂﬁilﬁmﬁwﬁﬁ
T ! @ waE A S A3 |

Examine the problem of rural unemployment in India. Briefly review the
policies initiated to solve this problem.

M-2015-111



(G) SGSY v dftre feaft ¢ |
Write a brief note on SGSY,

HUEI/OR

MGNREGA & fwg & g =1 o9t € 2 onfor it 51 woren
A 4 U8 fra erA BT qE £ 0

What do you know about MGNREGA 7 Hw@Z eeded in

solving the problem of rural poor ?

(H) SEBI %! @&rdwvmei 9% wfére

Write brief note on Wﬂrh

THIV & o e it g & 0

What »@ Public Finance in the economic development of the

M wra ¥ anfdrs R i g ammar % &= s § 2 g 59
A & T & fore wn g &0

State the causes of economic backwardness and regional imbalances in
India. What measures would you like to suggest to solve this problem ?

M-2015-IN1 P.T.O.
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(1 TErERT iR Feftew Bt aftmfe A 1 1901 &t By F
HTEETH] &7 TU T |
Define Liberalization and Privatization. Discuss the provision taken in
New Industrial Policy 1991.
FEIIOR

el s i R e & 7 S i #ifrg |
Define free trade and protection trade ? Distinguish ngm

ﬁmﬁmnﬁﬁwwmwﬁﬁﬂﬁ\ Ix15=45

Answer the following questions in about 300 wogds,
(A) wﬁ:ﬁﬁﬁmw%?mﬁw J T B FE S

TEaeT o

What is inclusive it has helped in poverty reduction of the
country 7

¥ oft & w7 qew € PN &% F HeE
w2

Discuss’the importance of agriculture in economy of Madhya Pradesh.
What is the problem of direct subsidy for agriculture ?

(B)

FAOR
i Bie A Hift @ qeaieT Y | 7e vR § 56w &
ferggemad|
Critically examine national skill development policy. Suggest some
measures to implement this in M.P.

1-2015-I11
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(C) T &9 1 § ? YR WO &N T49T 59 WA B B S
fore sm e e T E -

What is BImkany?Dimussrmﬂepsundmhmb}r Government
of India to curb this problem.

mmﬁmmmmmmmj
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